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QUESTION 1

What are two ways a container in a Pod can consume ConfigMap data? (Choose two.)
A. Mounted as a Persistent Volume Claim (PVC)

B. From Read-only files

C. From Read-write files

D. From Environment variables

E. Containers do not consume ConfigMap data

Correct Answer: BD

Reference: https://kubernetes.io/docs/concepts/configuration/configmap/

QUESTION 2

What is a defining characteristic of a Microservice?

A. An architectural pattern that encapsulates a specific business capability.
B. A failover mechanism for legacy applications.

C. A new technology to handle APl management.

D. Software for automation of container orchestration.

Correct Answer: A

Reference: https://tanzu.vmware.com/microservices

QUESTION 3

If a Kubernetes Pod cannot be scheduled, where can the reason be found?
A. Pod Spec

B. Event

C. Container logs

D. Pod Status

Correct Answer: B

Reference: https://www.datadoghg.com/blog/debug-kubernetes-pending-pods/
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QUESTION 4

Which two statements are true about Kubernetes Pods? (Choose two.)

A. A Pod is always highly available.

B. A Pod runs one or more containers.

C. A Pod can run no more than one container.

D. A Pod is the smallest execution unit in Kubernetes.

E. A Pod is a standard unit of software that packages up code and all its dependencies.
Correct Answer: BD

Reference: https://www.vmware.com/topics/glossary/content/kubernetes-pods

QUESTION 5

What is the purpose of a container?

A. Make it difficult to change the environment that an application runs on
B. Abstract a running application from the environment that it runs on

C. Make it easy to change the runtime that an application uses

D. Allow a complex application to run as a single unit

Correct Answer: D

Reference: https://www.cio.com/article/2924995/what-are-containers-and-why-do-you-need-them.html
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